

Application Of Laplace Transform In Electrical Engineering Pdf Download

[EBOOK] Application Of Laplace Transform In Electrical Engineering PDF Book is the book you are looking for, by download PDF Application Of Laplace Transform In Electrical Engineering book you are also motivated to search from other sources

Laplace Transform: 1. Why We Need Laplace Transform

System, The Differential Equations For Ideal Elements Are Summarized In Table 2.2); B. Obtain The Laplace Transformation Of The Differential Equations, Which Is Quite Simple (Transformation Of Commonly Used Equations Are Summarized In Table 2.3); C. Analyze The System In S Domain; D. Get The Final Time Domai Mar 10th, 2024

LAPLACE TRANSFORM & INVERSE LAPLACE TRANSFORM

LAPLACE TRANSFORM 48.1 MTRODUCTION Laplace Transforms Help In Solving The Differential Equations With Boundary Values Without Finding The General Solution And The Values Of The Arbitrary Constants. 48.2 LAPLACE TRANSFORM Definition. Let $f(t)$ Be Function Defitied For All Positive Values O Apr 5th, 2024

Definitions Of The Laplace Transform, Laplace Transform ...

Using The Laplace Transform, Differential Equations Can Be Solved Algebraically. • 2. We Can Use Pole/zero Diagrams From The Laplace Transform To Determine The Frequency Response Of A System And Whether Or Not The System Is Stable. • 3. We Can Tra Apr 4th, 2024

Laplace Transform Examples Of Laplace Transform

Properties Of Laplace Transform 6. Initial Value Theorem Ex. Remark: In This Theorem, It Does Not Matter If Pole Location Is In LHS Or Not. If The Limits Exist. Ex. 15 Properties Of Laplace Transform 7. Convolution IMPORTANT REMARK Convolution 16 Summary & Exercises Laplace Transform (Important Math Tool!) De Apr 7th, 2024

LAPLACE TRANSFORM, FOURIER TRANSFORM AND ...

1.2. Laplace Transform Of Derivatives, ODEs 2 1.3. More Laplace Transforms 3 2. Fourier Analysis 9 2.1. Complex And Real Fourier Series (Morten Will Probably Teach This Part) 9 2.2. Fourier Sine And Cosine Series 13 2.3. Parseval's Identity 14 2.4. Fourier Transform 15 2.5. Fourier Inversion Formula 16 2.6. Feb 4th, 2024

From Fourier Transform To Laplace Transform

What About Fourier Transform Of Unit Step Function T 1 $U(t) = \begin{cases} 0 & t < 0 \\ 1 & t \geq 0 \end{cases}$ $\int_{-\infty}^{\infty} U(t) e^{-st} dt = \int_0^{\infty} e^{-st} dt = \frac{1}{s}$ Does Not Converge $\int_{-\infty}^{\infty} U(t) e^{-st} dt = \frac{1}{s}$ Mar 2th, 2024

Electrical Engineering Laplace Transform

Grammar Construction Workbook Grade 5 , Verizon Wireless Manuals Lg Phones , Chapter 25 Section 4 Foreign Policy After The Cold War Worksheet Answers , Bosch Washing Machine Manual Exxcel 7 , Panasonic Dvd Video Recorder Dmr E55 Manual , Nomenclature Chemistry Worksheet With Answers , Guide Grid Revit , Oster 5814 Bread Machine Manual ... Mar 8th, 2024

LAPLACE TRANSFORM AND ITS APPLICATION IN CIRCUIT ...

Series Of Impulse Functions. (2)Shifting Property Of Linear Systems Input $X(t) \rightarrow \text{output } Y(t)$ $X(t-\tau) \rightarrow \text{output } Y(t-\tau)$ (3)Superposition Theorem For Linear Systems (4)Definition Of Integral : Finding The Area C.T. Pan 28 12.4 The Jan 4th, 2024

Laplace Transform And Its Application For Solving ...

Proof: This Important Property Of The Laplace Transform Is A Consequence Of The Following Equality: $\int_0^{\infty} e^{-st} f(t) dt = \int_0^{\infty} e^{-st} f(t) dt$ • $F(s) + F_0(s) = \int_0^{\infty} e^{-st} f(t) dt + \int_0^{\infty} e^{-st} f_0(t) dt = \int_0^{\infty} e^{-st} (f(t) + f_0(t)) dt$ This Is Easy To Prove By Applying The Derivation Operator Of Both Sides; Then The Left Hand Side Becomes $A = \int_0^{\infty} e^{-st} f(t) dt$.The Righ Feb 8th, 2024

Application Laplace Transform Aerospace Engineering

Aerospace Engineering Pocket Reference Is A Concise, Portable, Go-to Guide Covering The Entire Range Of Information On The Aerospace Industry. This Unique Text Affords Readers The Co Feb 2th, 2024

Application Of Laplace Transform In Engineering Ppt

Mechanical Engineering Research Papers - Academia.edu Moreover, Some Similarities Between The Laplace Wavelet Transform And The Laplace Transform Arise, Where A Relation Between The Laplace Wavelet Transform And The Laplace Transform Is Derived. This Relati Mar 8th, 2024

13. EC-EE 13 Application Of The Laplace Transform And ...

The Circuit Will Resonate When Driven By An External Oscillation, May Often Be Referred To As The Undamped Resonance Frequency To Distinguish It. ... The Properties Of The Parallel RLC Circuit Can Be Obtained From The Duality Relationship Of Electrical Circuits And Considering That The Parallel RLC Is ... Feb 6th, 2024

Application Of Laplace Transform For RLC Circuit

An Ordinary Differential Equation (ODE) Is A Differential Equation Containing One Or More Functions Of One Independent Variable And The Derivatives Of Those Functions. The Laplace Transform Is A Useful Method In Solving Linear ODE With Constant Coefficients. Consider Second Apr 9th, 2024

Application Of Laplace Transform In Civil Engineering

Free Laplace Transform Calculator - Find The Laplace And Inverse Laplace Transforms Of Functions Step-by-step This

Website Uses Cookies To Ensure You Get The Best Experience. By Using This Website, You Agree To Our Cookie Policy. The Laplace Transform Is Defined Feb 9th, 2024

Chapter 7. Laplace Transforms. Definition Of The Laplace ...

The Important Property Of The Laplace Transform Is Its Linearity. That Is, The Laplace Transform L Is A Linear Operator. Theorem 1. (linearity Of The Transform) Let f_1 And f_2 Be Functions Whose Laplace Transform Exist For $s > \alpha$ And c_1 And c_2 Be Constants. Then, For $s > \alpha$, $L\{c_1 f_1 + c_2 f_2\} = c_1 L\{f_1\} + c_2 L\{f_2\}$ Jan 1th, 2024

NAJJAR, Samer. B.Sc. (Eng.) M.Sc. (Eng.) PhD (Eng.) (Dr.)

NAJJAR, Samer. B.Sc. (Eng.) M.Sc. (Eng.) PhD (Eng.) (Dr.) Personal Details Date Of Birth 24-01-1959 (Male/Married) Nationality Palestinian, British Address PO Box 167 Nablus Telephone Work: +970 9 2671026 Ext 1520 Home: +970 9 2341124 Apr 9th, 2024

ENG 200, SECTION 411 ENG 200, SECTION 412 ENG 200 ...

The Comic Book 3 Credits (Friesen) Online Asynchronous This Course Is An Intensive Study Of Selected Graphic Novels And Related Literature. The Course Emphasizes Various Ways Of Reading, Studying, And Appreciating Graphic Literature As A Changing Medium, As A Genre Defined By Complex Criteria, And As Commentary On Culture, Society, And Politics. Jan 9th, 2024

ENG Seniority # NAME ENG - National Date ENG - Seniority ...

51 Senetza,t.g(trevor) Esb 2/19/1986 11/30/1994 Qualified Fort Steele Bc West July 13, 1995 52 Stewart, K.j.(ken) Esb 5/12/1986 11/30/1994 Qualified Sparwood Bc West July 13, 1995 53 Thompson, Rj (rob) Esb 1/26/1 Jan 10th, 2024

Laplace Transform Solved Problems - Univerzita Karlova

Laplace Transform Solved Problems Pavel Pyrih May 24, 2012 (Public Domain) Acknowledgement.The Following Problems Were Solved Using My Own Procedure Mar 2th, 2024

The Inverse Laplace Transform

$\frac{1}{s^3} + \frac{6}{s^2} + 4$, Is $U(t) = L^{-1}\{U(s)\} = \frac{1}{2} L^{-1} \{ \frac{1}{s^3} \} + 3 L^{-1} \{ \frac{1}{s^2} \} + 4 \delta(t) = \frac{1}{4} t^2 + 3 \sin 2t$. (4) 3. Example: Suppose You Want To find The Inverse Laplace Transform $X(t)$ Of $X(s) = \frac{1}{(s+1)^4} + \frac{s-3}{(s-3)^2} + 6$. Just Use The Shift Property (paragraph 11 From The Previous Set Of Notes): $X(t) = L^{-1} \{ \frac{1}{(s+1)^4} \} + L^{-1} \{ \frac{s-3}{(s-3)^2} \} + 6 \delta(t)$ Feb 1th, 2024

Laplace Transform - University Of Utah

The Laplace Transform Can Be Used To Solve Differential Equations. Be-sides Being A Different And Efficient Alternative To Variation Of Parameters And Undetermined Coefficients, The Laplace Method Is Particularly Advantageous For Input Terms That Are Piecewise-defined, Periodic Or Impulsive. Feb 10th, 2024

18.04 Practice Problems Laplace Transform, Spring 2018 ...

18.04 Practice Problems Laplace Transform, Spring 2018 Solutions On The Nal Exam You Will Be Given A Copy Of The Laplace Table Posted With These Problems. Problem 1. Do Each Of The Following Directly From The Definition Of Laplace Transform As An Integral. (a) Compute The Laplace Transform Of $f_1(t) = e^{at}$. (b) Compute The Laplace Transform Of $f_2(t) = \sin t$ Mar 2th, 2024

LAPLACE TRANSFORM TABLES

The Laplace Transform of a function $f(t)$ is defined as $F(s) = \int_0^\infty e^{-st} f(t) dt$. Further, If $G(t)$ Is Defined As The First Cycle Of $f(t)$, Followed By Zero, Then $F(s) = \int_0^\infty e^{-st} G(t) dt = \int_0^\infty e^{-st} f(t) dt = F(s)$. Square Wave: $f(t) = 1$ for $0 \leq t < 1$, $f(t) = 0$ for $t \geq 1$. Then $F(s) = \int_0^1 e^{-st} dt = \frac{1 - e^{-s}}{s}$. Where $e^{-s} = e^{-1}$, $e^{-2} = e^{-2}$, $e^{-3} = e^{-3}$, $e^{-4} = e^{-4}$, $e^{-5} = e^{-5}$, $e^{-6} = e^{-6}$, $e^{-7} = e^{-7}$, $e^{-8} = e^{-8}$, $e^{-9} = e^{-9}$, $e^{-10} = e^{-10}$, $e^{-11} = e^{-11}$, $e^{-12} = e^{-12}$, $e^{-13} = e^{-13}$, $e^{-14} = e^{-14}$, $e^{-15} = e^{-15}$, $e^{-16} = e^{-16}$, $e^{-17} = e^{-17}$, $e^{-18} = e^{-18}$, $e^{-19} = e^{-19}$, $e^{-20} = e^{-20}$, $e^{-21} = e^{-21}$, $e^{-22} = e^{-22}$, $e^{-23} = e^{-23}$, $e^{-24} = e^{-24}$, $e^{-25} = e^{-25}$, $e^{-26} = e^{-26}$, $e^{-27} = e^{-27}$, $e^{-28} = e^{-28}$, $e^{-29} = e^{-29}$, $e^{-30} = e^{-30}$, $e^{-31} = e^{-31}$, $e^{-32} = e^{-32}$, $e^{-33} = e^{-33}$, $e^{-34} = e^{-34}$, $e^{-35} = e^{-35}$, $e^{-36} = e^{-36}$, $e^{-37} = e^{-37}$, $e^{-38} = e^{-38}$, $e^{-39} = e^{-39}$, $e^{-40} = e^{-40}$, $e^{-41} = e^{-41}$, $e^{-42} = e^{-42}$, $e^{-43} = e^{-43}$, $e^{-44} = e^{-44}$, $e^{-45} = e^{-45}$, $e^{-46} = e^{-46}$, $e^{-47} = e^{-47}$, $e^{-48} = e^{-48}$, $e^{-49} = e^{-49}$, $e^{-50} = e^{-50}$, $e^{-51} = e^{-51}$, $e^{-52} = e^{-52}$, $e^{-53} = e^{-53}$, $e^{-54} = e^{-54}$, $e^{-55} = e^{-55}$, $e^{-56} = e^{-56}$, $e^{-57} = e^{-57}$, $e^{-58} = e^{-58}$, $e^{-59} = e^{-59}$, $e^{-60} = e^{-60}$, $e^{-61} = e^{-61}$, $e^{-62} = e^{-62}$, $e^{-63} = e^{-63}$, $e^{-64} = e^{-64}$, $e^{-65} = e^{-65}$, $e^{-66} = e^{-66}$, $e^{-67} = e^{-67}$, $e^{-68} = e^{-68}$, $e^{-69} = e^{-69}$, $e^{-70} = e^{-70}$, $e^{-71} = e^{-71}$, $e^{-72} = e^{-72}$, $e^{-73} = e^{-73}$, $e^{-74} = e^{-74}$, $e^{-75} = e^{-75}$, $e^{-76} = e^{-76}$, $e^{-77} = e^{-77}$, $e^{-78} = e^{-78}$, $e^{-79} = e^{-79}$, $e^{-80} = e^{-80}$, $e^{-81} = e^{-81}$, $e^{-82} = e^{-82}$, $e^{-83} = e^{-83}$, $e^{-84} = e^{-84}$, $e^{-85} = e^{-85}$, $e^{-86} = e^{-86}$, $e^{-87} = e^{-87}$, $e^{-88} = e^{-88}$, $e^{-89} = e^{-89}$, $e^{-90} = e^{-90}$, $e^{-91} = e^{-91}$, $e^{-92} = e^{-92}$, $e^{-93} = e^{-93}$, $e^{-94} = e^{-94}$, $e^{-95} = e^{-95}$, $e^{-96} = e^{-96}$, $e^{-97} = e^{-97}$, $e^{-98} = e^{-98}$, $e^{-99} = e^{-99}$, $e^{-100} = e^{-100}$, $e^{-101} = e^{-101}$, $e^{-102} = e^{-102}$, $e^{-103} = e^{-103}$, $e^{-104} = e^{-104}$, $e^{-105} = e^{-105}$, $e^{-106} = e^{-106}$, $e^{-107} = e^{-107}$, $e^{-108} = e^{-108}$, $e^{-109} = e^{-109}$, $e^{-110} = e^{-110}$, $e^{-111} = e^{-111}$, $e^{-112} = e^{-112}$, $e^{-113} = e^{-113}$, $e^{-114} = e^{-114}$, $e^{-115} = e^{-115}$, $e^{-116} = e^{-116}$, $e^{-117} = e^{-117}$, $e^{-118} = e^{-118}$, $e^{-119} = e^{-119}$, $e^{-120} = e^{-120}$, $e^{-121} = e^{-121}$, $e^{-122} = e^{-122}$, $e^{-123} = e^{-123}$, $e^{-124} = e^{-124}$, $e^{-125} = e^{-125}$, $e^{-126} = e^{-126}$, $e^{-127} = e^{-127}$, $e^{-128} = e^{-128}$, $e^{-129} = e^{-129}$, $e^{-130} = e^{-130}$, $e^{-131} = e^{-131}$, $e^{-132} = e^{-132}$, $e^{-133} = e^{-133}$, $e^{-134} = e^{-134}$, $e^{-135} = e^{-135}$, $e^{-136} = e^{-136}$, $e^{-137} = e^{-137}$, $e^{-138} = e^{-138}$, $e^{-139} = e^{-139}$, $e^{-140} = e^{-140}$, $e^{-141} = e^{-141}$, $e^{-142} = e^{-142}$, $e^{-143} = e^{-143}$, $e^{-144} = e^{-144}$, $e^{-145} = e^{-145}$, $e^{-146} = e^{-146}$, $e^{-147} = e^{-147}$, $e^{-148} = e^{-148}$, $e^{-149} = e^{-149}$, $e^{-150} = e^{-150}$, $e^{-151} = e^{-151}$, $e^{-152} = e^{-152}$, $e^{-153} = e^{-153}$, $e^{-154} = e^{-154}$, $e^{-155} = e^{-155}$, $e^{-156} = e^{-156}$, $e^{-157} = e^{-157}$, $e^{-158} = e^{-158}$, $e^{-159} = e^{-159}$, $e^{-160} = e^{-160}$, $e^{-161} = e^{-161}$, $e^{-162} = e^{-162}$, $e^{-163} = e^{-163}$, $e^{-164} = e^{-164}$, $e^{-165} = e^{-165}$, $e^{-166} = e^{-166}$, $e^{-167} = e^{-167}$, $e^{-168} = e^{-168}$, $e^{-169} = e^{-169}$, $e^{-170} = e^{-170}$, $e^{-171} = e^{-171}$, $e^{-172} = e^{-172}$, $e^{-173} = e^{-173}$, $e^{-174} = e^{-174}$, $e^{-175} = e^{-175}$, $e^{-176} = e^{-176}$, $e^{-177} = e^{-177}$, $e^{-178} = e^{-178}$, $e^{-179} = e^{-179}$, $e^{-180} = e^{-180}$, $e^{-181} = e^{-181}$, $e^{-182} = e^{-182}$, $e^{-183} = e^{-183}$, $e^{-184} = e^{-184}$, $e^{-185} = e^{-185}$, $e^{-186} = e^{-186}$, $e^{-187} = e^{-187}$, $e^{-188} = e^{-188}$, $e^{-189} = e^{-189}$, $e^{-190} = e^{-190}$, $e^{-191} = e^{-191}$, $e^{-192} = e^{-192}$, $e^{-193} = e^{-193}$, $e^{-194} = e^{-194}$, $e^{-195} = e^{-195}$, $e^{-196} = e^{-196}$, $e^{-197} = e^{-197}$, $e^{-198} = e^{-198}$, $e^{-199} = e^{-199}$, $e^{-200} = e^{-200}$, $e^{-201} = e^{-201}$, $e^{-202} = e^{-202}$, $e^{-203} = e^{-203}$, $e^{-204} = e^{-204}$, $e^{-205} = e^{-205}$, $e^{-206} = e^{-206}$, $e^{-207} = e^{-207}$, $e^{-208} = e^{-208}$, $e^{-209} = e^{-209}$, $e^{-210} = e^{-210}$, $e^{-211} = e^{-211}$, $e^{-212} = e^{-212}$, $e^{-213} = e^{-213}$, $e^{-214} = e^{-214}$, $e^{-215} = e^{-215}$, $e^{-216} = e^{-216}$, $e^{-217} = e^{-217}$, $e^{-218} = e^{-218}$, $e^{-219} = e^{-219}$, $e^{-220} = e^{-220}$, $e^{-221} = e^{-221}$, $e^{-222} = e^{-222}$, $e^{-223} = e^{-223}$, $e^{-224} = e^{-224}$, $e^{-225} = e^{-225}$, $e^{-226} = e^{-226}$, $e^{-227} = e^{-227}$, $e^{-228} = e^{-228}$, $e^{-229} = e^{-229}$, $e^{-230} = e^{-230}$, $e^{-231} = e^{-231}$, $e^{-232} = e^{-232}$, $e^{-233} = e^{-233}$, $e^{-234} = e^{-234}$, $e^{-235} = e^{-235}$, $e^{-236} = e^{-236}$, $e^{-237} = e^{-237}$, $e^{-238} = e^{-238}$, $e^{-239} = e^{-239}$, $e^{-240} = e^{-240}$, $e^{-241} = e^{-241}$, $e^{-242} = e^{-242}$, $e^{-243} = e^{-243}$, $e^{-244} = e^{-244}$, $e^{-245} = e^{-245}$, $e^{-246} = e^{-246}$, $e^{-247} = e^{-247}$, $e^{-248} = e^{-248}$, $e^{-249} = e^{-249}$, $e^{-250} = e^{-250}$, $e^{-251} = e^{-251}$, $e^{-252} = e^{-252}$, $e^{-253} = e^{-253}$, $e^{-254} = e^{-254}$, $e^{-255} = e^{-255}$, $e^{-256} = e^{-256}$, $e^{-257} = e^{-257}$, $e^{-258} = e^{-258}$, $e^{-259} = e^{-259}$, $e^{-260} = e^{-260}$, $e^{-261} = e^{-261}$, $e^{-262} = e^{-262}$, $e^{-263} = e^{-263}$, $e^{-264} = e^{-264}$, $e^{-265} = e^{-265}$, $e^{-266} = e^{-266}$, $e^{-267} = e^{-267}$, $e^{-268} = e^{-268}$, $e^{-269} = e^{-269}$, $e^{-270} = e^{-270}$, $e^{-271} = e^{-271}$, $e^{-272} = e^{-272}$, $e^{-273} = e^{-273}$, $e^{-274} = e^{-274}$, $e^{-275} = e^{-275}$, $e^{-276} = e^{-276}$, $e^{-277} = e^{-277}$, $e^{-278} = e^{-278}$, $e^{-279} = e^{-279}$, $e^{-280} = e^{-280}$, $e^{-281} = e^{-281}$, $e^{-282} = e^{-282}$, $e^{-283} = e^{-283}$, $e^{-284} = e^{-284}$, $e^{-285} = e^{-285}$, $e^{-286} = e^{-286}$, $e^{-287} = e^{-287}$, $e^{-288} = e^{-288}$, $e^{-289} = e^{-289}$, $e^{-290} = e^{-290}$, $e^{-291} = e^{-291}$, $e^{-292} = e^{-292}$, $e^{-293} = e^{-293}$, $e^{-294} = e^{-294}$, $e^{-295} = e^{-295}$, $e^{-296} = e^{-296}$, $e^{-297} = e^{-297}$, $e^{-298} = e^{-298}$, $e^{-299} = e^{-299}$, $e^{-300} = e^{-300}$, $e^{-301} = e^{-301}$, $e^{-302} = e^{-302}$, $e^{-303} = e^{-303}$, $e^{-304} = e^{-304}$, $e^{-305} = e^{-305}$, $e^{-306} = e^{-306}$, $e^{-307} = e^{-307}$, $e^{-308} = e^{-308}$, $e^{-309} = e^{-309}$, $e^{-310} = e^{-310}$, $e^{-311} = e^{-311}$, $e^{-312} = e^{-312}$, $e^{-313} = e^{-313}$, $e^{-314} = e^{-314}$, $e^{-315} = e^{-315}$, $e^{-316} = e^{-316}$, $e^{-317} = e^{-317}$, $e^{-318} = e^{-318}$, $e^{-319} = e^{-319}$, $e^{-320} = e^{-320}$, $e^{-321} = e^{-321}$, $e^{-322} = e^{-322}$, $e^{-323} = e^{-323}$, $e^{-324} = e^{-324}$, $e^{-325} = e^{-325}$, $e^{-326} = e^{-326}$, $e^{-327} = e^{-327}$, $e^{-328} = e^{-328}$, $e^{-329} = e^{-329}$, $e^{-330} = e^{-330}$, $e^{-331} = e^{-331}$, $e^{-332} = e^{-332}$, $e^{-333} = e^{-333}$, $e^{-334} = e^{-334}$, $e^{-335} = e^{-335}$, $e^{-336} = e^{-336}$, $e^{-337} = e^{-337}$, $e^{-338} = e^{-338}$, $e^{-339} = e^{-339}$, $e^{-340} = e^{-340}$, $e^{-341} = e^{-341}$, $e^{-342} = e^{-342}$, $e^{-343} = e^{-343}$, $e^{-344} = e^{-344}$, $e^{-345} = e^{-345}$, $e^{-346} = e^{-346}$, $e^{-347} = e^{-347}$, $e^{-348} = e^{-348}$, $e^{-349} = e^{-349}$, $e^{-350} = e^{-350}$, $e^{-351} = e^{-351}$, $e^{-352} = e^{-352}$, $e^{-353} = e^{-353}$, $e^{-354} = e^{-354}$, $e^{-355} = e^{-355}$, $e^{-356} = e^{-356}$, $e^{-357} = e^{-357}$, $e^{-358} = e^{-358}$, $e^{-359} = e^{-359}$, $e^{-360} = e^{-360}$, $e^{-361} = e^{-361}$, $e^{-362} = e^{-362}$, $e^{-363} = e^{-363}$, $e^{-364} = e^{-364}$, $e^{-365} = e^{-365}$, $e^{-366} = e^{-366}$, $e^{-367} = e^{-367}$, $e^{-368} = e^{-368}$, $e^{-369} = e^{-369}$, $e^{-370} = e^{-370}$, $e^{-371} = e^{-371}$, $e^{-372} = e^{-372}$, $e^{-373} = e^{-373}$, $e^{-374} = e^{-374}$, $e^{-375} = e^{-375}$, $e^{-376} = e^{-376}$, $e^{-377} = e^{-377}$, $e^{-378} = e^{-378}$, $e^{-379} = e^{-379}$, $e^{-380} = e^{-380}$, $e^{-381} = e^{-381}$, $e^{-382} = e^{-382}$, $e^{-383} = e^{-383}$, $e^{-384} = e^{-384}$, $e^{-385} = e^{-385}$, $e^{-386} = e^{-386}$, $e^{-387} = e^{-387}$, $e^{-388} = e^{-388}$, $e^{-389} = e^{-389}$, $e^{-390} = e^{-390}$, $e^{-391} = e^{-391}$, $e^{-392} = e^{-392}$, $e^{-393} = e^{-393}$, $e^{-394} = e^{-394}$, $e^{-395} = e^{-395}$, $e^{-396} = e^{-396}$, $e^{-397} = e^{-397}$, $e^{-398} = e^{-398}$, $e^{-399} = e^{-399}$, $e^{-400} = e^{-400}$, $e^{-401} = e^{-401}$, $e^{-402} = e^{-402}$, $e^{-403} = e^{-403}$, $e^{-404} = e^{-404}$, $e^{-405} = e^{-405}$, $e^{-406} = e^{-406}$, $e^{-407} = e^{-407}$, $e^{-408} = e^{-408}$, $e^{-409} = e^{-409}$, $e^{-410} = e^{-410}$, $e^{-411} = e^{-411}$, $e^{-412} = e^{-412}$, $e^{-413} = e^{-413}$, $e^{-414} = e^{-414}$, $e^{-415} = e^{-415}$, $e^{-416} = e^{-416}$, $e^{-417} = e^{-417}$, $e^{-418} = e^{-418}$, $e^{-419} = e^{-419}$, $e^{-420} = e^{-420}$, $e^{-421} = e^{-421}$, $e^{-422} = e^{-422}$, $e^{-423} = e^{-423}$, $e^{-424} = e^{-424}$, $e^{-425} = e^{-425}$, $e^{-426} = e^{-426}$, $e^{-427} = e^{-427}$, $e^{-428} = e^{-428}$, $e^{-429} = e^{-429}$, $e^{-430} = e^{-430}$, $e^{-431} = e^{-431}$, $e^{-432} = e^{-432}$, $e^{-433} = e^{-433}$, $e^{-434} = e^{-434}$, $e^{-435} = e^{-435}$, $e^{-436} = e^{-436}$, $e^{-437} = e^{-437}$, $e^{-438} = e^{-438}$, $e^{-439} = e^{-439}$, $e^{-440} = e^{-440}$, $e^{-441} = e^{-441}$, $e^{-442} = e^{-442}$, $e^{-443} = e^{-443}$, $e^{-444} = e^{-444}$, $e^{-445} = e^{-445}$, $e^{-446} = e^{-446}$, $e^{-447} = e^{-447}$, $e^{-448} = e^{-448}$, $e^{-449} = e^{-449}$, $e^{-450} = e^{-450}$, $e^{-451} = e^{-451}$, $e^{-452} = e^{-452}$, $e^{-453} = e^{-453}$, $e^{-454} = e^{-454}$, $e^{-455} = e^{-455}$, $e^{-456} = e^{-456}$, $e^{-457} = e^{-457}$, $e^{-458} = e^{-458}$, $e^{-459} = e^{-459}$, $e^{-460} = e^{-460}$, $e^{-461} = e^{-461}$, $e^{-462} = e^{-462}$, $e^{-463} = e^{-463}$, $e^{-464} = e^{-464}$, $e^{-465} = e^{-465}$, $e^{-466} = e^{-466}$, $e^{-467} = e^{-467}$, $e^{-468} = e^{-468}$, $e^{-469} = e^{-469}$, $e^{-470} = e^{-470}$, $e^{-471} = e^{-471}$, $e^{-472} = e^{-472}$, $e^{-473} = e^{-473}$, $e^{-474} = e^{-474}$, $e^{-475} = e^{-475}$, $e^{-476} = e^{-476}$, $e^{-477} = e^{-477}$, $e^{-478} = e^{-478}$, $e^{-479} = e^{-479}$, $e^{-480} = e^{-480}$, $e^{-481} = e^{-481}$, $e^{-482} = e^{-482}$, $e^{-483} = e^{-483}$, $e^{-484} = e^{-484}$, $e^{-485} = e^{-485}$, $e^{-486} = e^{-486}$, $e^{-487} = e^{-487}$, $e^{-488} = e^{-488}$, $e^{-489} = e^{-489}$, $e^{-490} = e^{-490}$, $e^{-491} = e^{-491}$, $e^{-492} = e^{-492}$, $e^{-493} = e^{-493}$, $e^{-494} = e^{-494}$, $e^{-495} = e^{-495}$, $e^{-496} = e^{-496}$, $e^{-497} = e^{-497}$, $e^{-498} = e^{-498}$, $e^{-499} = e^{-499}$, $e^{-500} = e^{-500}$, $e^{-501} = e^{-501}$, $e^{-502} = e^{-502}$, $e^{-503} = e^{-503}$, $e^{-504} = e^{-504}$, $e^{-505} = e^{-505}$, $e^{-506} = e^{-506}$, $e^{-507} = e^{-507}$, $e^{-508} = e^{-508}$, $e^{-509} = e^{-509}$, $e^{-510} = e^{-510}$, $e^{-511} = e^{-511}$, $e^{-512} = e^{-512}$, $e^{-513} = e^{-513}$, $e^{-514} = e^{-514}$, $e^{-515} = e^{-515}$, $e^{-516} = e^{-516}$, $e^{-517} = e^{-517}$, $e^{-518} = e^{-518}$, $e^{-519} = e^{-519}$, $e^{-520} = e^{-520}$, $e^{-521} = e^{-521}$, $e^{-522} = e^{-522}$, $e^{-523} = e^{-523}$, $e^{-524} = e^{-524}$, $e^{-525} = e^{-525}$, $e^{-526} = e^{-526}$, $e^{-527} = e^{-527}$, $e^{-528} = e^{-528}$, $e^{-529} = e^{-529}$, $e^{-530} = e^{-530}$, $e^{-531} = e^{-531}$, $e^{-532} = e^{-532}$, $e^{-533} = e^{-533}$, $e^{-534} = e^{-534}$, $e^{-535} = e^{-535}$, $e^{-536} = e^{-536}$, $e^{-537} = e^{-537}$, $e^{-538} = e^{-538}$, $e^{-539} = e^{-539}$, $e^{-540} = e^{-540}$, $e^{-541} = e^{-541}$, $e^{-542} = e^{-542}$, $e^{-543} = e^{-543}$, $e^{-544} = e^{-544}$, $e^{-545} = e^{-545}$, $e^{-546} = e^{-546}$, $e^{-547} = e^{-547}$, $e^{-548} = e^{-548}$, $e^{-549} = e^{-549}$, $e^{-550} = e^{-550}$, $e^{-551} = e^{-551}$, $e^{-552} = e^{-552}$, $e^{-553} = e^{-553}$, $e^{-554} = e^{-554}$, $e^{-555} = e^{-555}$, $e^{-556} = e^{-556}$, $e^{-557} = e^{-557}$, $e^{-558} = e^{-558}$, $e^{-559} = e^{-559}$, $e^{-560} = e^{-560}$, $e^{-561} = e^{-561}$, $e^{-562} = e^{-562}$, $e^{-563} = e^{-563}$, $e^{-564} = e^{-564}$, $e^{-565} = e^{-565}$, $e^{-566} = e^{-566}$, $e^{-567} = e^{-567}$, $e^{-568} = e^{-568}$, $e^{-569} = e^{-569}$, $e^{-570} = e^{-570}$, $e^{-571} = e^{-571}$, $e^{-572} = e^{-572}$, $e^{-573} = e^{-573}$, $e^{-574} = e^{-574}$, $e^{-575} = e^{-575}$, $e^{-576} = e^{-576}$, $e^{-577} = e^{-577}$, $e^{-578} = e^{-578}$, $e^{-579} = e^{-579}$, $e^{-580} = e^{-580}$, $e^{-581} = e^{-581}$, $e^{-582} = e^{-582}$, $e^{-583} = e^{-583}$, $e^{-584} = e^{-584}$, $e^{-585} = e^{-585}$, $e^{-586} = e^{-586}$, $e^{-587} = e^{-587}$, $e^{-588} = e^{-588}$, $e^{-589} = e^{-589}$, $e^{-590} = e^{-590}$, $e^{-591} = e^{-591}$, $e^{-592} = e^{-592}$, $e^{-593} = e^{-593}$, $e^{-594} = e^{-594}$, $e^{-595} = e^{-595}$, $e^{-596} = e^{-596}$, $e^{-597} = e^{-597}$, $e^{-598} = e^{-598}$, $e^{-599} = e^{-599}$, $e^{-600} = e^{-600}$, $e^{-601} = e^{-601}$, $e^{-602} = e^{-602}$, $e^{-603} = e^{-603}$, $e^{-604} = e^{-604}$, $e^{-605} = e^{-605}$, $e^{-606} = e^{-606}$, $e^{-607} = e^{-607}$, $e^{-608} = e^{-608}$, $e^{-609} = e^{-609}$, $e^{-610} = e^{-610}$, $e^{-611} = e^{-611}$, $e^{-612} = e^{-612}$, $e^{-613} = e^{-613}$, $e^{-614} = e^{-614}$, $e^{-615} = e^{-615}$, $e^{-616} = e^{-616}$, $e^{-617} = e^{-617}$, $e^{-618} = e^{-618}$, $e^{-619} = e^{-619}$, $e^{-620} = e^{-620}$, $e^{-621} = e^{-621}$, $e^{-622} = e^{-622}$, e^{-623}